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[ POSTPRESS ]

�4E=>6=<> F4 6?4E=<> FLOCASE �?44<E?46 %FDT?LF>6 ?D>F< F>7>, M>5 =>7> >><?4=VN EF>EL 4E>-

FVN646 7 4DG>4D=5N. �V4?D<T<5FL =4?>?O74T, M> FLOCASE 3 6<D>5=<G4 >><?4=VO ?>6=>7> F<>?G, 
O>4 D>7D>5?OT ?4>>64==O F4 V=LV 6<D>5< F4 F>D7GT =<<<. 
�?44<E?46 =5 ?N5<FL D>5<F< ?D>7=>7<, 4 ?D>EF> 7467OF> F4 =4?>?57?<6> D>5<FL E6>N E?D46G: 74-

E>4<FL G 6V?L=V D<=>>6V =VLV, D>76<64T 5>E?>DF=G E>?44>6G, 65EL G4E V=65EFGT 6 46F><4F<7>64=5 
6<D>5=<G5 GEF4F>G64==O. 
�6F><4F<74FVO 6<D>5=<FF64 4?O >><?4=V=, ?>4V5=<E Flocase, F5 must have: <>6?<6VEFL =V65?N64F< 
6??<6 ?N4EL>>7> D4>F>D4 =4 >V=F56<= D57G?LF4F, D>7L<D<F< DG=>FV>=4? >>6=>7> ?D4FV6=<>4, 6<-

7>F>6?OF< ?D>4G>FVN ?5D5454GG64=>W O>>EFV G 747=4G5=V F5D<V=<.
'5D7>6V V=65EF<FVW ?4= �?44<E?46 74??4=G646 =4?D<>V=FV 2021 D., 6EF<7 7D>5<F< ?>?5D54=N >??4FG 
74 =>6<= DV6GG<= ??>F5D iECHO PK1209 Plus F4 45O>5 V=L5 GEF4F>G64==O. �4 64?L, E4<4 V=EF4?OFVO 
G5D57 7D>7G<V?V ?D<G<=< 45M> 6V4F5D<V=G64?4EO. �?5 G >6VF=V =>6VF=V= (4> D5GV, ?5DL<= 6 '>D4W=V 
??>F5D FL>7> 6<D>5=<>4 G F4>><G D>D<4FV) 5G?> V=EF4?L>64=> G FLOCASE. 

�F65, EL>7>4=V FD<64NFL >4D47G 45>V?L>4 ?D>F5EV6: 6<6G5==O <>6?<6>EF5= =>6>W >4<=<FV GEF4F>G-

64==O F4 WW V=F57D4FVO G D>5>G<= ?D>F5E, D>7L<D5==O =><5=>?4FGD< =>6<<< 6<D>54<< (4465 DV6G-

G<= ??>F5D 3 F4 >4<=<FO GEF4F>G64==O, M> 44T 7<>7G 6<7>F>6?OF< 7>F>6V POS-6<D>5<)&

�5DL<= 6 '>D4W=V iECHO PK1209 Plus 
G >><?4=VW FLOCASE 

��'����� � ���/
�><?4=VN FLOCASE WW 6?4E=<> �?44<E?46 %FDT?LF>6 6V4>D<6 

G 2015 D>FV. �> FL>7> �?44<E?46 ?D4FN646 G 65?<>V= F>D7>65?L-
=V= <5D56V, 45 7>=>N =>7> 6V4?>6V44?L=>EFV 5G?> EF6>DN64F< =>6V 

?D>4G>F< F4 6<6>4<F< WE =4 D<=>>. &5, 6?4E=>, 7G<>6<?> 65>F>D 4V-
O?L=>EFV = 6?4E=>W 6<D>5=<G>W >><?4=VW ?V4?D<T<FO. 

«�>?5D54=V D>5>F>446FV =46G4?< <5=5 EF6>DN64F< =>6V ?D>-

4G>F< F4 =>6V E5D6VE<, 4>44=G 64DFVEFL, V F<< O 74=<4NEO ?V66<FFO. 
&V, EF> E<4<FL F4 G5>4T 74?<F< =4 ?D>D4EG=><, F>G=> ?D>7D4NFL V 
665 ?D>7D4?<!» 3 7444T F>= =4LV= D>7<>6V �?44<E?46.

�V4>D<6L< 6?4E=<= 5V7=5E, �?44<E?46 >5D46 =VLG ?>44DG=>>-
6>7> ?4>>64==O: 4>D>7V >>D>5>< DV7=><4=VF=>W >>=DV7GD4FVW. 

�4DF> 747=4G<F<, M> ?>G<=4?4 >><?4=VO FLOCASE 7 =>?O: =5 
<4NG< 6?4E=>7> GEF4F>G64==O, 6E5 D>5<?4 =4 4GFE>DE<=7G. �65 
74 DV> �?44<E?46 7=4=L>6 V=65EF>DV6, O>V ?>6VD<?< G >><?4=VN F4 
6>?4?< 6 =5W 7D>LV. &5 44?> ?>LF>6L D>76<F>>6V FLOCASE. 

-5 >4=<< ?>LF>6E>< EF4?4 ?4=45<VO >>D>=46VDGEG, >>?< EF46-
EO 5G< 5?5>FD>==>W >><5DFVW, 7?VF4?< E5D6VE< 7 4>EF46><, ?>FDV5-
=V 5G?< 74E>5< V=4<6V4G4?L=>7> 74E<EFG. �F65, V ?4>>64==O, V M<F-
>< 4?O 74E<EFG >5?<GGO, O>V ?>G4?4 6<7>F>6?OF< >><?4=VO Flocase, 
7=4E>4<?< E6>WE ?>>G?FV6. 

«&D554 5G?> M>EL D>5<F< 45> 76V?L=OF< ?N45=, 3 7744GT 
�?44<E?46. 3 ' >><?4=VW 5G?> V T 6E5 >5?44=4==O, M>5 6<7>F>6?O-

F< M<F>< =4 >5?<GGO». �V4?>6V4=>, Flocase 74?D>?>=G64?4 74E<E=V 



37
www.printus.com.ua

E>FV4?L=4 <5D564 ?>?V7D4DVEFV6

M<F>< 45>V?L>>< F>D7>65?L=<< <5D564< = D54?V7G64?4 ?>=44 150 
>4<=<FL FVTW ?D>4G>FVW. �F65, 6VD=> 6<7=4G5=V ?V4 G4E >D<7< =4-
?DO<>< 44?< 7<>7G >><?4=VW 74D>5<F< G<<4?> >>LFV6. 

�FD<<4=V 7D>LV 6?4E=<> FLOCASE V=65EFG646 G >5?44=4==O 4?O 
L<D>>>D>D<4F=>7> 4DG>G, ?475D<, =4?V646F><4F<G=5 GEF4F>G64=-
=O 4?O >4L<DG64==O F4 75<D4==O >>D>5>>. �4D4?5?L=> >><?4=VO 
GE?VL=> D>76<64?4 5>E?>DF=G E>?44>6G. 

�4D47V FLOCASE E?5FV4?V7GTFLEO =4 6<D>5=<FF6V ?>44DG=>>-
6>7> ?4>>64==O, 6<7>F>6?OT ?4>5F<, >>=65DF<, 5D5=4GT EFDVG><, 
=444T ?>E?G7< 7 D>7D>5>< ?4>>64==O, FD4D4D5F=>7> 4DG>G, 6<EV-
>4==O F4 ?>DV7><. �4T 6<D>5=<G4 >><?4=VO = L65==<= F5E V >DV< ?4-
>>64==O 7 F>4=<=<, M> ?>EFG?>6> =45G64T ?>?G?OD=>EFV =4 T6D>-
?5=EL>><G D<=>G, 6<7>F>6?OT = <4E>G64?L=V EVF>< 4?O 6V=EL>>6<E. 

FLOCASE ?D4FNT 7 5474FL<4 ?>646=<<< 5D5=44<<, ?5D5?V> 
O><E T =4 E4=FV https://www.flocase.ua/. 

�4F><VEFL >5?44=4==O 4?O L<D>>>D>D<4F=>7> 4DG>G ?V4 G4E 
5?>>4GFV6 G FLOCASE F<<G4E>6> 74>>=E5D6G64?<, M>5 755D57F< 
?V4 G4E ?5D5?44V6 =4?DG7< F4 ?>EFV==>7> 6V4>?NG5==O 5=5D7VW. 

�� �$��,�� �� $���� � ������: «��� &� &$���» 
�?44<E?46 %FDT?LF>6 65EL G4E =47>?>LGT, M> =5 E>G5, M>5 

=>7> >><?4=VN EF>EL 4E>FVN646 7 4DG>4D=5N: «FLOCASE =5 74F>-

G5=4 ?V4 ?>?V7D4DVN, << =45474F> L<DLV, =V6 F5 744TFLEO. �< D>-

5<<> ?4>>64==O: D>7D>5?OT<> ?D>4G>F (<4T<> 74?4F5=F>64=V 6<-

D>5<) F4 F>D7GT<> ?D>4G>F><». 
&4><= ?V4EV4, 74 E?>64<< �?44<E?464, EGFFT6> 6V4DV7=OTFLEO 6V4 

4VO?L=>EFV 5V?LL>EFV 4DG>4D5=L, O>V LG>4NFL =4 D<=>G 74<>6?5==O 
F4 ?D>EOFL 44F< M>EL ?>D4EG64F<. ' FLOCASE V=L<= L?OE F4 V=L4 
<>45?L D>76<F>G: «�< ?D<=L?< =4 D<=>> V >465<>: «�4< F5 FD554, 
55DVFL, F5EFG=F5, ?D>4464=F5», 3 747=4G4T �?44<E?46

FLOCASE ?D47=5 ?>EFV==> D>7L<DN64F< 4E>DF<<5=F ?4>>64==O: 
E4<>75VD=5, 7 ?4?VFGD=>7> >4DF>=G, ?4>>64==O 7 F>4=<= (6V4=>E=> =>-
6<= =4?DO<>> 4?O >><?4=VW) ?V4 N65?VD=V 6<D>5<, ?4DDG<<, 5V?<7=G 
F>M>. «�4<474T<>EO 744>6>?L=<F< 6EV D<=>>6V ?>FD55<, ?>69O74=V 7 
?4>>64==O<, ?<L5 6 E57<5=F ?>?V5F<?5=>6>7> F4 ??4EF<>>6>7> ?4-

>>64==O =5 74E>4<<>, 5> =5FV>46>», 3 747=4G4T �?44<E?46. 
�4DF>= 3 5V?LL 5>>?>7VG=<= <4F5DV4?, F><G E4<5 >4DF>==5 ?4-

>>64==O ?>?G?OD=5 =4 E6VF>6><G D<=>G, 4 74?<FV6 M>4> 6<7>F>6-
?5==O ??4EF<>>6>7> ?4>>64==O F4 ?4>5FV6 EF4T 4544?V <5=L5. &4 = 
E4< D<=>> ??4EF<>>6>7> ?4>>64==O 4>E<FL MV?L=<=, FG4< E>?44=> 
74E>4<F< 557 65?<>>W DV=4=E>6>W ?>4GL><. �FV<, ??4EF<>>65 ?4>>-
64==O, 6>?. ?4>>64==O 7 7>DD>64=>7> ??4EF<>G ?VE?O ?>O6< =>6>7> 
DV74?L=>7> ??>F5D4 FLOCASE F5>D5F<G=> <>65 D>5<F<.

IECHO PK1209 PLUS 3 ��$,�� � '�$����
�56=<= G4E ?>DV7>G <4F5DV4?V6 4?O 6<7>F>6?5==O ?4>>64==O F4 

V=L<E 6<D>5V6 G FLOCASE D>5<?< =4 ?475D=><G GEF4F>G64==V 45> 
6<EV>4?< 747>FV6>< 7 6<>>D<EF4==O< LF4=FD>D< =4 4GFE>DE<=7G. 

�D47=GG< 74>D<F< 6<D>5=<G<= F<>? 6 D4<>4E 6?4E=>7> 6<D>5-
=<FF64, �?44<E?46 =4?D<>V=FV 2021 D. 67O6 >D54<F 6 D4<>4E ?D>7D4-
<< «5-7-9» =4 74D=<E G<>64E F4 ?D<4546 DV74?L=<= ??>F5D iECHO 
PK1209 Plus. �?>F5D FL>7> 6<D>5=<>4 G F4>><G D>D<4FV EF46 ?5D-
L<< 6 '>D4W=V (=4F><VEFL 45EOF>< 4DG>4D5=L F4 6<D>5=<G<E >><?4-
=V= <4NFL 6 >5>=<V F4 GE?VL=> 6<>>D<EF>6GNFL ?>?G?OD=V <>45?V 
iECHO PK 0705 Plus/0604 Plus).

iECHO PK1209 Plus >5?44=4=> E?5FV4?L=<< FD4=E?>DF=<< >>=-
65TD>< 7 64>GG<=<< ?D<F<E>>< V 64>GG<=<< <5E4=V7<>< ?V4V=<4==O 
?<EFV6 <4F5DV4?G 7V EF>EG F4 WE=L>W ?>44GV 4> 7>=< DV74==O. 

�E=>64 ??>F5D4i ECHO PK1209 Plus T EF4?56>N D4<>N, ?>E<-
?5=>N 45>V?L>><4 ?>?5D5G>4<< 4?O ?V46<M5==O 6>DEF>>EFV >>=-
EFDG>FVW F4 ?>?V?L5==O F>G=>EFV >5D>5><. �?5>FD>==4 G4EF<=4 
65DEF4F4 D>7F4L>64=4 6<>?NG=> >><?4>F=> F4 7DGG=> 4?O >5E?G-
7>6G64==O. 

�>=EFDG>FVO D?N75D=<E =>6V6 iECHO PK1209 Plus 44T 7<>-
7G <4>E<<4?L=> EF45V?V7G64F< =4?4LFG64==O DV6GG>7> V=EFDG<5=-
FG, M> 74557?5GGT 6<>?NG=> F>G=5 DV74==O 557 6V4E<?5=L ?4D4<5-
FDV6 6V4 7444=<E GEF4=>6>>. 

$V74?L=<= ??>F5D iECHO PK1209 Plus GG4>6> 4>?>6=NT >DE5F-
=5 >5?44=4==O D>D<4FV6 A2 F4 �3 F4 &�� GEVE ?D54EF46?5=<E =4 
D<=>G 6<D>5=<>V6.

�V4 G4E 6<5>DG ??>F5D4 �?44<E?46 765DF46 G647G =4E4<?5D54 
=4 F>G=VEFL DV74==O F4 N745V?VFV. �?5 =4=5V?LL FV>465 ?<F4==O 3 
'><G E4<5 F4><= D>D<4F 5G6 ?>FDV55= FLOCASE? �V4?>6V4L 4>E<FL 
?D>EF4: >><?4=VO ?D4FNT 7 DV7=<<< <4F5DV4?4<<: >4DF>=4<<, ?4?V-
FGD=<<< >4DF>=4<<, L>VD74<V==<>4<<, F>4=<=4<<, =5DV4>> FV EG5-
EFD4F< <4NFL F>6M<=G 4> 10 <<, = >G?G64F< GEF4F>G64==O <5=L>-
7> D>D<4FG, 74 E?>64<< �?44<E?464, ?D>EF> =5 5G?> E5=EG G5D57 
5V?LL E?45><= F<E> 6 7>=V D>5>F< =>6V6 (?D54EF46=<>< >><?4=VW ?V4 
G4E F5EFG64=L 4V=L?< 6<E=>6>G, M> ?>FG6=>EFV iECHO PK 0705 Plus 
=54>EF4F=L> 4?O F<E 74644=L, M> FD554 6<>>=G64F<). 

� =4?V?>< F4 M5 45O>V 6<D>5< >><?4=VO GE?VL=> 6<7>F>6?OT V7 
74EF>EG64==O< DV74?L=>7> L<D>>>D>D<4F=>7> ??>F5D4, O><= =5-
7454D>< ??4=GTFLEO D>7>>=E5D6G64F<. 

iECHO PK1209 Plus <46 ?D<WE4F< 20 55D57=O 2022 D., 4?5 G5D57 
6V==G V=EF4?OFVO 6V4F5D<V=G64?4EO G5D57 =5D>7G<V==O, O> =444?V 

�4F5DV4?<, O>V <>65 >5D>5?OF< iECHO PK1209 
Plus F4 6V4?>6V4=V 6<D>5<:

" E<=F5F<G=<= ?4?VD (?>EF5D<, EF5=4< Roll-up/45<>=-

EFD4FV==V EF5=4<;
" E4=46VG-?>?VEF<D>? (>D54F<6=V V7D4L><, D>EF>6V DV-
7GD<);
" 55>?VF< (4>D>6=V 7=4><, 45>>D4F<6=V 4??V>4FVW);
" >4DF>= (>>D>5><, ?4>5F<);
" ??4EF<>< (?>44DG=>>65 ?4>>64==O, ?4?><, 54=5D<, 
D5>?4<=V >>=EFDG>FVW);
" 7>DD>64=<= >4DF>= (F4D4 = ?4>>64==O, ?>44DG=-

>>6V >>D>5><, POP->>=EFDG>FVW);
" <4>G?4FGD=<= >4DF>= (>>D>5><, D>F>D4<><, <4>5-

F< F4 <>45?V);
" 7>DD>64=<= ??4EF<> (?4>>64==O, EF5=4<);
" ��% (?4>>64==O, EF5=4<, POP->>=EFDG>FVW;
" <47=VF=V 6V=V?< (=4?V?><, V=D>D<4FV==V 7=4><, EG65-

=VD=4 ?D>4G>FVO)

iECHO PK1209 Plus 3 5>>=><VG=4 F4 ?>6=VEFN 46F><4F<7>64=4 E<EF5<4 4?O 
DV7GD=>7> DV74==O, =44EVG><, 5V7>6>< F4 ?5DD>D4FVW ?<EF>6<E <4F5DV4?V6 
D>D<4F>< 4> 1200E900 << F4 746F>6L>< 4> 10 << 
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D>76<64F<<5FLEO E<FG4FVO 6 >D4W=V (6??<=G?< =4 F5D<V=< V=EF4?OFVW 
= G<E?5==V 5?5>4GF<, M> EF4?<EO 6>E5=<). -5 >4=<< EFD<<G64?L-
=<< D4>F>D>< EF4?4 E<FG4FVO V7 74<>6?5==O<< =4 6=GFDVL=L><G 
D<=>G '>D4W=<, 6V=, 74 E?>64<< �?44<E?464, ?<L5 =4D47V FD>E< 6V4-
=>6?NTFLEO. 

�?5, 7 V=L>7> 5>>G, 5G?> 7D>7G<V?>, M> V=EF4?OFVO iECHO 
PK1209 Plus =444T >><?4=VW =<7>G ?5D5647: <>6?<6>EFV EF6>D<F< 
74<>=5=<= 6<D>5=<G<= F<>?, D>7L<D<F< 4E>DF<<5=F ?D>4G>FVW, 74-
>M446G64F< 7D>LV =4 6<7>F>6?5==V LF4=FD>D<. 

iECHO PK1209 Plus =4?56<FL 4> F4>>7> GEF4F>G64==O, ?D< 5>E-
??G4F4FVW O>>7> 646?<6<<< T DV65=L >64?VDV>4FVW >?5D4F>DV6 F4 
WE=T 5464==O D>7V5D4F<EO 6 =4?4LFG64==OE F4 >E>5?<6>EFOE D>-
5>F< 7 ?D<EFD>T<. �46?<6>N T 4>?><>74 ?>EF4G4?L=<>4 GEF4F>G-
64==O 3 >><?4=VW «�574FD5=4». �DV< F>7>, �?44<E?46G %FDT?LF>6G 
?>M4EF<?> 7 F4><<< ?D4FV6=<>4<<: «� <5=5 E?>?FV 3 >?4E=V, W< ?>-

4>54TFLEO F5, G<< 6>=< 74=<4NFLEO 3 6>=< LG>4NFL DVL5==O F4 
E?V?>GNFLEO V 7 ><F4=FO<<, V 7 >>?574<< 7 4<5D<>4=EL>>7> D<=>G». 

�4DF> D>7G<VF<, M> iECHO PK1209 Plus 3 ?5DL<= 6 '>D4W=V (=5-
64>67V 79O6<FLEO 4DG7<=), = EF4F<EF<>< M>4> 6<>>D<EF4==O ??>F5-
D4 5D4>GT: «6D47?<6V <VEFO», F5D<V= 5>E??G4F4FVW =>6V6 74?56=> 6V4 
F<?G <4F5DV4?V6, <>6?<6V 547<. 

&><G ?D>F5E ?D<F<D4==O FLOCASE F4 iECHO PK1209 Plus FD<-
64T, V F5 =>D<4?L=V D>5>GV <><5=F<. 

�V4?>6V4=>, ?>EFG?>6> >><?4=VO D>7L<DNT E?5>FD <4F5DV4?V6, 
O>V >5D>5?ONFLEO =4 iECHO PK1209 Plus: >4DF>=, 7>DD>>4DF>=, 
E?4=4>=4, ??4EF<> F>M>. 

����� ����&���� �������%&�
�>DV6=O=> 7 E<FG4FVTN, >>?< 4?O ?>DV7>< ?D>4G>FVW 74EF>E>6G-

64?<EO ?475D<, ?VE?O ?>O6<iECHO PK1209 Plus G FLOCASE 79O6<?<-
EO ?56=V 4>44F>>6V <>6?<6>EFV: «�475D ??46<FL 45O>V <4F5DV4?<, 4 
iECHO PK1209 Plus 3 =V, ?475D =5 44T 7<>7G >FD<<G64F< >V=F56<= 
?D>4G>F, 4 ??>F5D 44T», 3 D>7<VD>>6GT ?V4?D<T<5FL. 

�V4?>6V4=>, G �?44<E?464 %FDT?LF>64 T =4<VD< 6<E>4<F< G =>6V 
D<=>>6V E57<5=F<, D>7L<DN64F< 4E>DF<<5=F F4 ?DO<G64F< 44?V. 
�4D47V 665 F5EFGNFLEO =>6V 6<D>5<, 6<7>F>6?5=V 7 6<>>D<EF4=-
=O< ??>F5D4, ?D<7=4G5=V 4?O DV7=<E D<=>V6 F4 DV7=<E >4F57>DV= ?>-
>G?FV6. &V>46>, M> ?4DFVW =>6<E 6<D>5V6 4G65 L6<4>> 7=4E>4OFL 

?>>G?FV6 3 5G>64?L=> «6G>D4 74?GEF<?< ?D>4G>F, EL>7>4=V ?D>44-

?< ?5DLV ?4DFVW». 
�><??5>F4FVO iECHO PK1209 Plus 6>?NG4T >EF<?N64?L=<= F4=-

75=FV4?L=<= V=EFDG<5=F V-cut, M> 44T 7<>7G 6<>>=G64F< DV7GD=5 DV-
74==O, =44EV>4==O, 5V7G64==O V ?5DD>DG64==O ?<EF>6>7> 7>DD>>4D-
F>=G F4 V=L<E DV7=><4=VF=<E <4F5DV4?V6, O>V L<D>>> 74EF>E>6GNFLEO 
G 6<D>5=<FF6V POS-6<D>5V6. �>FG6=5 �� iBrightCut, O>5 6E>4<FL 4> 
>><??5>FG ?>EF4G4==O, <4T ?>FDV5=<= DG=>FV>=4? 4?O D>7D>5>< 
L45?>=V6 F4 65G4>64=G 5V5?V>F5>G, O>4 6>?NG4T 44=V <4F5DV4?V6, ?4-
D4<5FD< WE=L>7> DV74==O V <>65 5GF< V=4<6V4G4?L=> D>7L<D5=4 =>-
6<<< 44=<<< O> ?D> <4F5DV4?<, F4> V ?D> =4=>D4MV <5F>4< DV74=-
=O. �4?56=> 6V4 <4F5DV4?G, <>6=4 ?V4V5D4F< 6V4?>6V4=V V=EFDG<5=F<, 
?574 F4 ?4D4<5FD< >5D>5><. 

�>6?<6>EFV 46F><4F<74FVW iECHO PK1209 Plus (O><E G ?D<EFD>W G<-
<4?>) G FLOCASE ?>>< 4>F<6=> =5 6<>>D<EF>6GNFL, 5> 4?O 4>44F>>-
6<E 5>E?5D<<5=FV6 ?>FDV55= G4E, 4 ??>F5D 6V4 E4<>7> ?>G4F>G 5>E??G-
4F4FVW 4>E<FL =5?>74=> 7464=F465=<=: M>4=O =4 =L><G 6<7>F>6?ONFL 
DV7=G ?D>4G>FVN =4 DV7=<E <4F5DV4?4E, V F5 =5 >4=>F<?=V >?5D4FVW. 

�4 E?>64<<, �?44<E?464 ?>>< M> 7 DG=>FV= 46F><4F<74FVW 
=4=5V?LL >>D<E=V 46F>?>44G4 F4 46F>E><44==O: «�>>?4?< ?4G-

>G, 665?< 74644==O, 6>=> 6<>>=GTFLEO, 4 >?5D4F>D ?VL>6 ?<F< 
>46G». �V=E=>iECHO PK1209 Plus 3 6<E>>>46F><4F<7>64=4 <4L<-
=4, 76V?L=OT ?56=<= G4E D>5>F< >?5D4F>D4, O><= <>65 6 F5= G4E 

�5D5647< ??>F5D4 iECHO PK1209 Plus:

" <>6?<6VEFL >><5V=G64==O >V?L>>E >?5D4FV= 3 >>=-

FGD=>7> DV74==O, =44EVG>< F4 5V7>6><; 
" DV74==O 5F<>5F>> 5G4L-O>>W D>D<<;
" DV74==O/=44EVG>4 EFV>5DV6;
" DV74==O/5V7>6>4 >4DF>=G 5G4L-O>>7> F<?G;
" >EF<?N64?L=<= =V6 (44T <>6?<6VEFL ?D4FN64F< 7 
7>DD>>4DF>=><, <V>D>7>DD>>4DF>=><, ?V=>>4DF>-

=>< F>M>).

�4D4<5FD �=4G5==O

�D<7=4G5==O $V7GD=4 ?>DV7>4 F4 5V7>6>4 <4F5DV4?G

$>5>G4 >5?4EFL 1200E900 <<

&<?< =>6V6 $?N75D=<=, F4=75=FV==<=, 5V7G64?L=<=

,6<4>VEFL DV74==O �> 1000 <</E5>.

�4>E. F>6M<=4 <4F5DV4?G 4> 10 <<

�>6?<6V V=EFDG<5=F< PTK, VCT

�><??5>F4FVO
�?F<G=<= 44FG<>, 46F>?>44G4, 46F>?D<=-
<4==O, >>=65TD=4 EFDVG>4

�?FVW ��, D>7<>FG64==O DG?>=V6, QR->>4

&45?<FO 1. &5E=VG=V E4D4>F5D<EF<>< DV74?L=>7> ??>F5D4 iECHO PK1209 Plus

�?O 74557?5G5==O 5=5D7>557?5>< >><?4=VO «�574FD5=4» G>><??5>FG64?4 
DV74?L=<= ??>F5D ?>DF4F<6=>N 74DO4=>N EF4=FVTN Anker 535
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E>FV4?L=4 <5D564 ?>?V7D4DVEFV6

6<>>=G64F< 4>44F>>6V 74644==O, =4?D<>?44, ?D4FN64F< 7 ?475D>< 
(O> G FLOCASE). 

�=65EFGNG< >>LF< 6 GEF4F>G64==O, >5DV6=<> >><?4=VW E4<5 = =4-
44T ?5D5647G 46F><4F<7>64=><G 45> =4?V646F><4F<7>64=><G GEF4F-
>G64==N: «�4F< =4 D>5>FV 150 ?D4FV6=<>V6 3 <>D4?L=> 646>>. �4D47V 
6 <5=5 =4 50% ?5DE>=4?G <5=L5, =V6 4> 6V==< (EF>EL ?>WE46, EF>EL 
6>NT). � 74D>5VF>> ?<L<6EO F>= E4<<=, 5> ?D>F5E< 46F><4F<7>64=V». 

iECHO PK1209 Plus G FLOCASE G4EF>>6> >5E?G7>6GT V EF>D>==VE 
>?VT=FV6, O><< ?D> ?>O6G =>6>W >4<=<FV GEF4F>G64==O 6G4E=> ?>6V4>-
<<?<. �EV, G<W <4F5DV4?< >5D>5?O?< =4 ??>F5DV, 74?<L<?<EO 744>6>?5-
=<<<, 6>4=>G4E V >?5D4F>D iECHO PK1209 Plus 74>5G6 ?56=V =46<G><. 

$���&� �� '�%�� �����
�<F><G 647G (4> 90%) >5V7G FLOCASE 7G<>6?NNFL 6<D>5<, M> 

>><?4=VO 6<7>F>6?OT =4 D57G?OD=V= >E=>6V: =4E4<?5D54 F5 ?4>>-
64==O, O>5 7455V?LL>7> E?DO<>6GTFLEO =4 5>E?>DF.

�> 6V==< 5>E?>DF=4 E>?44>64 6 4VO?L=>EFV FLOCASE E>?444?4 12%, 
4 EL>7>4=V EF4=>6<FL 4> 80%. �4<>6=<>< FLOCASE ?D4FNNFL =5 ?<L5 
G �6D>?V, 4?5 = G �V6=VG=V= �<5D<FV (%,�), %EV4=V= �7VW (�<4= F4 ���).

�4 5>E?>DF FLOCASE 6<7>F>6?OT ?4>>64==O 4?O >6VFV6, >DG7?V 
F4 >644D4F=V >>D>5><, FD4=E?>DF=5 ?4>>64==O, 7>DD>?4>>64==O. 
%5D54 74<>6=<>V6 >><?4=VW ?5D56464NFL 6V=><: G<<4?> 6V=>>-?V4-
?D<T<=<FL 6<WE4?< 74 >>D4>=, 45 6V4>D<?< 5V7=5E<, 4?5 74<>6?5=-
=O =4 ?4>>64==O ?D>4>66GNFL D>7<VMG64F< 6 '>D4W=V.

�46?<6<< >4=4?>< =44E>465==O 5>E?>DF=<E 74<>6?5=L 
�?44<E?46 =47<64T «E4D4D4==5 D44V>» (D>5>FG 74 D5>><5=44FVO-
<<). �G56<4=>, M> 6?4E=<> FLOCASE =444T ?5D5647G V=65EF<FVO< 
G D>76<F>> 6<D>5=<FF64. %>G4 >><?4=VO GE?VL=> ?D>44T ?D>4G>FVN 
G5D57 E4=F, <4T 4>F<6=G EF>DV=>G 6 Instagram. 

�?44<E?46 7>6>D<FL V ?D> ?>6646?5==O =4 D<=>G '>D4W=< 74 >>-
D5<<<< =4?DO<>4<<, 4?5 6 74<>6=<>V6 5?5<5=F4D=> 5D4>GT 7D>-
L5=. � V=L>7> 5>>G, D<=>> ?5D5D>7?>4V?<6EO: EF>EL 6<WE46 G< 74-
>D<6 ?V4?D<T<EF64, G<WEL 6<D>5=<FF64 D>75><5<?<. 

� 45O><<< 6<D>5=<>4<< EE>6>7> ?D>DV?N FLOCASE D54?V7GT 
E?V?L=V ?D>T>F<. �6VE=>, =45FLEO ?D> >><?4=VW, 7>F>6V E?V6?D4FN64-
F<, 5> =4 D<=>G 6<EF4G4T V 74>D<F<E >><?4=V=, =5 7>F>6<E 4V?<F<EO 
74>5GF>4<<. 

%����$�&/ � «����&$���»
iECHO PK1209 Plus 3 ?5DL5 ?D<454==O FLOCASE G >><?4=VW 

«�574FD5=4», >DVFV==>7> ?D54EF46=<>4 Hangzhou IECHO Science 
& Technology Co., Ltd. (�<F4=), 4?5 =4?56=> =5 >EF4==T. 

�>E6V4>< E?V6?D4FV 6?4E=<> FLOCASE 744>6>?5=<=: «�D>446FV 
G >><?4=VW 445>64F=V 3 4>7>6>D>744F=V, E5D6VE 6?D46=<=». 

�?44<E?464 %FDT?LF>64 744>6>?L=<?< G<>6< ?>EF4G4==O ??>-
F5D4 iEcho PK 1209 Pro: 7-?><V6 46>E ?>EF4G4?L=<>V6 GEF4F>G64=-
=O E4<5 «�574FD5=4» 74?D>?>=G64?4 >D4MV G<>6<. �V4?D<T<F56V 
?>4>54TFLEO, M> «�574FD5=4» 3 4<=4<VG=4 >><?4=VO, O>4 65EL G4E 
D>7L<DNT E?5>FD ?D>?>7<FV= 4DG>4DEL>>7> F4 ?VE?O4DG>4DEL>>-
7> GEF4F>G64==O. 

«/>5< >><?4=VO =5 4>?><474?4 6<DVL<F< ?<F4==O FLOCASE, O 
5 7 =<<< =5 ?D4FN646, 6V4?>6V4=>, V 6>=< 5 =4 <5=V =5 74D>5<?<», 
3 747=4G4T �?44<E?46. 

%F>EG=>< 46>E >><?4=V= 6V4D<FV, V F5 ?>4>54TFLEO 6?4E=<>G 
FLOCASE: «�4>D<FV EF>EG=>< 3 F5 =V ?D> M>. �?O <5=5 ?>EF4G4?L-

=<> =4E4<?5D54 =5 ?D>4465FL, 4 ?4DF=5D, << 7 =<<< V45<> 6 >4<= 
5V>, 5> O>M> >>65= ?V45 G E6V= 5V>, =5<4 E5=EG E?V6?D4FN64F<». 

�� ��$���
�4=5GF=T �?44<E?46 %FDT?LF>6 54G<FL G EF6>D5==V =>6<E ?D>-

4G>FV6, WE=L><G ?D>EG64==V =4 D<=>>, D>76<F>>6V 5>E?>DF=>W E>?44>6>W.
�V= ?V4>D5E?NT, M> G<<4?> >><?4=V= ?O>4NFLEO ?D4FN64F< 7 

?>7VEF<>>N, F4<>6=5N, <4F< E?D46G 7 7>6=VL=L>-5>>=><VG=<<< 
>?5D4FVO<<. «&4>, 5>E?>DF=>7> >?VT=F4 =45474F> 4>6L5 FD554 D>7-

D>5?OF<, =V6 >?VT=F4 7 '>D4W=<. �DV< F>7>, G>D4W=EL><= 74<>6=<> 
<>65 ?D<WE4F< F4 ?>4<6<F<EO, 4 7 'V?V 4> F555 =VEF> =5 ?D<W45. �?5 
6E5 >4=> 64DF> 4G<4F< ?D> 5>E?>DF F4 4>44=G 64DFVEFL», 3 ?V4>D5E-
?NT ?V4?D<T<5FL.

�> D5GV, 7 5>E?>DF=<<< >?VT=F4<< FLOCASE ?D4FNT 74 ?>?5-
D54=L>N >??4F>N, M> E6V4G<FL ?D> 4>6VDG 4> G>D4W=EL>>7> 6<D>5-
=<>4: «�D>LV 6 DG><, 5G4GFL 76G><».

-> 6 4> V=65EF<FV= =4 ?>44?LL<= D>76<F>>, F> EL>7>4=V G5D57 
=56<7=4G5=VEFL E<FG4FVW 74?GG4F< WE E>?44=VL5. �?5 D<=>> ?>FD>-
EG ?>6646?NTFLEO, 5> ?V4?D<T<FV D>7G<VNFL, M> FD554, 45< 7D>LV 
>55DF4?<EO, 4 =5 ?564?< 65EL G4E ?V4 ?>4GL>>N.

«/ =V>>?< =5 D>5?N ?D>7=>7< 3 F5 =564OG=4 E?D464, 5> <>6=4 
>G?G G4EG 6<FD4F<F<, 4?5 >D4M5 M>EL 74D>5<F<», 3 747=4G4T ?V4-
?D<T<5FL. &4>, ?D>7=>7GNG<, M> 5G45 ?V4 G4E 6V==<, <>6=4 74?<-
L<F<EO G E?V4=V= 5V?<7=V. �?5 FLOCASE 6<6G4?4 E?>6<6G<= ?>?<F 
V ?V4 G4E ?4=45<VW, ?D>4>66GT D>5<F< F5 F5?5D V 74664< ?D>?>=GT 
?>FDV5=G D<=>G ?D>4G>FVN. 

�>6?<6>EFV 46F><4F<74FVW iECHO PK1209 Plus

%<EF5<4 6<E>>>F>G=>7> 46F><4F<G=>7> 
?>7<FV>=G64==O 
CCD->4<5D4 6<E>>>W GVF>>EFV 74557?5GGT F>G=5 ?>-

7<FV>=G64==O DV7=<E <4F5DV4?V6 6 46F><4F<G=><G 
D56<<V F4 ?D5F<7V==5 >>=FGD=5 DV74==O, 74?>5V74-

NG< ?D>5?5<4<, >5G<>6?5=<< ?N4EL><< D4>F>D><. 

%<EF5<4 DV74==O ?> LFD<E->>4G
�4557?5GGT L6<4><= EF4DF D>5>G<E >?5D4FV=. 
�5D>5>4 <4F5DV4?V6 6V45G64TFLEO 6 46F><4F<G=><G 
D56<<V: ?> 7465DL5==N ?>?5D54=L>7> 74644==O =4 
?V4EF46V 44=<E, >FD<<4=<E 7V LFD<E->>4G, O><= 7G<-

FGT E?5FV4?L=4 >4<5D4, 7464=F46GTFLEO =4EFG?=<= 
D4=? D>7>D>N. 

$G=>FVO 46F><4F<G=>W 7G?<=>< >4D5F><
�?O 74E<EFG >?5D4F>D4 6V4 <>6?<6>W FD46<< F4 D>-

5>G>7> V=EFDG<5=FG 6V4 >>=F4>FG 7 <4F5DV4?>< =4 
>4D5FFV ??>F5D4 6EF4=>6?5=V 44FG<><, M> D547GNFL 
=4 ?5D5L>>4G. ' D47V 6<O6?5==O ?5D5L>>4<, >4D5F-
>4 46F><4F<G=> 7G?<=OTFLEO, V ??>F5D EF46<FLEO =4 
?4G7G 4> WW GEG=5==O. 

�6F><4F<G=4 ?>44G4 <4F5DV4?G
�>6=VEFN 46F><4F<G=4 E<EF5<4 ?<EF>6>W ?>44GV EGF-
FT6> ?V46<MGT ?D>4G>F<6=VEFL F4 D>5<FL D>5>G<= 
?D>F5E =4=5V?LL 5D5>F<6=<<. �4D47G ?VE?O 7465D-

L5==O 74644==O 46F><4F<G=<= >>=65TD 4>GD4F=> 
G>?444T >5D>5?5=<= <4F5DV4? G ?D<=<4?L=<= ?>F>>. 


